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Get the most from this book





This book will help you revise for the Pearson Edexcel IGCSE History specification. It covers the following options:




Paper 1: Depth Studies




	
•  Germany: development of dictatorship, 1918–45


	
•  A world divided: superpower relations, 1943–72


	
•  A divided union: civil rights in the USA, 1945–74










Paper 2: Section A Historical Investigations




	
•  Russia and the Soviet Union, 1905–24


	
•  The USA, 1918–41










Paper 2: Section B Breadth Studies




	
•  Changes in medicine, c1848–c1948


	
•  China: conflict, crisis and change, 1900–89





You can use the revision planner on pages 4 and 5 to plan your revision, topic by topic. Tick each box when you have:




	
1  revised and understood a topic


	
2  answered the exam practice questions


	
3  checked your answers online.





You can also keep track of your revision by ticking off each topic heading throughout the book. Be a scribbler, make notes as you learn. You will need an exercise book for most of the revision tasks, but you can also write in this book.


Tick to track your progress
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Revision tasks


Use these tasks to make sure that you have understood every topic and to help you think about what you are revising. If you do the tasks you will have to use the information in the book. If you use the information you will remember it better. The more you use it, the better you will remember it.
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Exam tips


Throughout the book there are tips that explain how you can boost your final grade.
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Exam practice


Sample exam questions are provided for each topic. Use them to consolidate your revision and practise your exam skills.
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Introduction







How to revise


There is no single way to revise, but here are some good ideas.




1 Make a revision timetable


For a subject like history, which involves learning large amounts of factual detail, it is essential that you construct a ‘revision plan’:




	
•  Start early – you should start by looking at the dates of your exams and working backwards to the first date you intend to start revising, probably six to eight weeks before your exam.


	
•  Be realistic – work out a realistic revision plan to complete your revision; don’t try to do too much. Remember that you have to fit in your history revision alongside your other GCSE subjects. Plan to include breaks to give yourself a rest.


	
•  Revise regularly – regular, short spells of 20–40 minutes are better than long slogs of several hours.


	
•  Plan your time carefully – test yourself to see what you know and give more revision time to topic areas you find difficult. Spend longer on the sections you feel less confident about.


	
•  Track your progress – keep to your timetable, and use the revision planner on pages 4 and 5 to tick off each topic as you complete it. Give yourself targets and reward yourself when you have achieved them.










2 Revise actively


Different people revise in different ways and you will have to find the methods which best suit your learning style. The best revision techniques are active. Here are some techniques which students have used to help them revise:
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Guide to the Pearson Edexcel IGCSE History examination





You will be examined on two units for Paper 1, one unit for Paper 2, Section A and one unit for Paper 2, Section B.


When answering the exam questions, always bear in mind the following:




	
•  The more marks the question has, the longer you should spend answering it.


	
•  Only include information that is directly relevant to the question.


	
•  Be specific; avoid generalised comments.


	
•  Try to include specific details such as names, dates, events, organisations and activities.


	
•  Always support your statements with examples.







Paper 1: Depth Studies


This paper tests your knowledge on the key features and characteristics of the historical period.


You will be tested on your historical interpretation skills and will need to be able to make judgements about historical events and periods studied, using second-order historical concepts. The second-order concepts assessed in Paper 1 are causation, consequence and significance.




	
•  Paper 1 is worth 50 per cent of your total IGCSE marks.


	
•  The exam lasts 1 hour 30 minutes.


	
•  You need to answer two questions, one on each of the depth studies you have studied.


	
•  Each question consists of three parts:



	
•  (Part a) This is worth 6 marks.


	
•  (Part b) This is worth 8 marks.


	
•  (Part c) This is worth 16 marks.







	
•  Try to spend 40 minutes on each full question. Ideally, you want to allow five to ten minutes at the end of the exam to read through and check your answers.







How to answer the 6-mark question – ‘What impression?’


Six-mark questions on Paper 1 ask you to analyse a secondary extract. The question will look like:


What impression does the author give about …?


You must use Extract A to explain your answer.


The question requires you to infer the impression given by the author of the extract. This goes beyond simply repeating what the author has written. You will need to infer what impression is given and support this by considering the following:




	
•  Tone – what tone does the author use in the extract? Is it positive or negative? Supportive, critical or balanced etc?


	
•  Language – what language is used to give this impression? Focus on the vocabulary used. What does it explicitly state? What can you infer? Make direct reference to the extract and use short quotes to highlight key phrases and words used.


	
•  Content – what information about the topic has the author selected? How does this affect the impression it gives?


	
•  Remember, this is a six-mark question so don’t spend too long answering it.










How to answer the 8-mark question – ‘Explain TWO effects’


Eight-mark questions on Paper 1 require you to explain two effects of something. The question will look like:


Explain two effects of … on …




	
•  You must look at two effects. If you only explain one effect you will only receive a maximum of half the marks available.


	
•  You don’t need to write a full essay for the answer. Write two separate paragraphs – one for each effect.


	
•  To reach the highest marks, you must go beyond simply describing an effect. Make sure you explain the consequences of each effect on the situation at the time.


	
•  Select relevant and specific information to support your explanation.










How to answer the 16-mark question – ‘How far do you agree?’


Sixteen-mark questions carry the most marks and therefore require a longer and more detailed answer. The question will start with a statement in quotation marks and you are required to judge how far you agree with it:


‘[Statement]’ How far do you agree? Explain your answer.


You may use the following in your answer:




	
•  Stimulus point 1


	
•  Stimulus point 2





You must also use information of your own.




	
•  Sixteen-mark questions carry the most marks and therefore require a carefully planned and detailed answer.


	
•  You will be rewarded for answers that are well organised, well structured and coherent.


	
•  The stimulus points are there to help get you started. You must also use your own knowledge and go beyond the points that you’ve been given.


	
•  Make sure you choose accurate and relevant information.


	
•  Remember the rules of essay writing: ensure your answer has an introduction that briefly outlines your view, at least three paragraphs of discussion and a reasoned conclusion which provides a judgement on the statement in the question.


	
•  Your conclusion is a crucial part of your answer. Make sure that you include clear criteria for your overall judgement, which you have backed up with convincing evidence and argument. This is not as simple as saying you totally agree or disagree with the statement. It also means avoiding sitting on the fence and not having an opinion! Instead, you must make a considered judgement as to how far you agree.
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Structuring your conclusion
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JUDGEMENT: Start with your judgement – try to incorporate words from the question into this sentence.
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COUNTER: Show that you are aware that there is some evidence to counter this and give the best example.
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SUPPORT: Explain why, overall, you have reached the judgement you have. Outline your key criteria or reasons why.
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Paper 2: Investigation and Breadth Studies




	
•  This is worth 50 per cent of your total IGCSE marks.


	
•  The exam lasts 1 hour 30 minutes.


	
•  There are two sections for this paper:



	
•  Section A: Historical Investigation (30 marks)


	
•  Section B: Breadth Study in Change (30 marks)







	
•  You need to answer two questions; one question on your Historical Investigation and one on your Breadth Study.


	
•  Each question consists of three parts:



	
•  (Part a) This is worth 6 marks


	
•  (Part b) This is worth 8 marks


	
•  (Part c) This is worth 16 marks







	
•  Try to spend 40 minutes on each full question. Ideally, you want to allow five or ten minutes at the end of the exam to read through and check your answers.







Section A: Historical Investigation


Section A tests your knowledge and understanding of the key features and characteristics of historical periods and your ability to use a range of source material to comprehend, interpret and cross-refer sources. You will also be tested on how well you can analyse and evaluate historical interpretations in the context of historical events studied.







How to answer the 6-mark question – ‘Describing two features’


Six-mark questions on Paper 2 Section A ask you to describe two features of an event. You will have a choice of two events. The question will look like this:


Describe TWO features of EITHER … OR …




	
•  Bear in mind this is an ‘Either/Or’ question – you don’t have to answer both!


	
•  Make sure you describe two features. If you only describe one feature you will only receive a maximum of half the marks available.


	
•  To help structure your answer, write two paragraphs – one for each feature.


	
•  Use specific and detailed knowledge to describe each feature.











How to answer the 8-mark question – ‘two sources describing two features’



Eight-mark questions on Paper 2 Section A ask you to cross reference two sources. The question will look like this:


How far does Source A support the evidence of Source B about …?




	
•  Don’t just paraphrase the sources.


	
•  Read the sources carefully and pick out points from each source to show where they agree/disagree.


	
•  To gain top marks, you must identify both agreement and disagreement.


	
•  Write three paragraphs to help structure your answer:



	
•  Paragraph 1 – explain how the sources agree.


	
•  Paragraph 2 – explain how the sources disagree.


	
•  Paragraph 3 – give a brief conclusion explaining how far the sources support one another.
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NB: You are not required to evaluate the utility or reliability of the sources.







How to answer the 16-mark question – ‘two sources and an extract’


For 16-mark questions on Paper 2 Section A you need to reach a judgement relating to an Interpretation.


The question will take the following form:


Extract C suggests … How far do you agree with this Interpretation? Use Extract C, Sources A and B and your own knowledge to explain your answer.




	
•  Sixteen-mark questions carry the most marks and therefore require a carefully planned and detailed answer. Make sure you create a quick plan of how you are going to answer the question before you start writing.


	
•  Read the extract carefully and pick out the main points that it makes.


	
•  Compare these to what Source A and Source B reveal, and explain how they agree/disagree with the extract. Next, use detailed and specific examples from your own knowledge to agree/disagree with the extract.


	
•  Finish with a conclusion that makes a judgement based on the sources and your own knowledge. Make sure you weigh up the evidence to help formulate how far you agree with the interpretation.
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Section B: Breadth Study in Change



Section B tests your knowledge and understanding of the key features and characteristics of historical periods and your ability to explain, analyse and make judgements about historical events and periods studied, using second-order historical concepts. The second-order concepts assessed in Section B are: change, continuity, causation, significance, similarity and difference.







How to answer the 6-mark question – ‘similarity/difference’


Six-mark questions on Paper 2 Section B ask you to compare two different periods. The question will always look like this:


Explain TWO ways in which [X] was similar to/different from [Y].




	
•  Make sure you aim for two clear points. By only dealing with one similarity/difference you will only be able to gain three out of the six marks.


	
•  You will not gain extra credit for giving a third point.


	
•  For a top answer, you will need to choose specific information about both the periods to support the comparison.


	
•  Remember, this is a six-mark question so don’t spend too long answering it. You won’t need to write an introduction or a conclusion.










How to answer the 8-mark question – ‘causes’


Eight-mark questions on Paper 2 Section B require an explanation of causes. The question takes the following form:


Explain TWO causes of …




	
•  You don’t need to write a full essay for the answer. Write two separate paragraphs – one for each cause.


	
•  Don’t simply describe the cause; make sure you explain how the causes led to the outcome.


	
•  Select relevant and detailed information to support the explanation.










How to answer the 16-mark question – ‘change over time / significance’


Sixteen-mark questions on Paper 2 Section B require a judgement relating to one of the following: causes of change / extent of change. The question will be in one of the following styles:




	
•  How far did … change in the years …?


	
•  How far did … change … in the years …?


	
•  How significant was … in changing … in the years to …?


	
•  How far was the … the key turning point in … in the years …?





You may use the following in your answer:




	
•  Stimulus point 1


	
•  Stimulus point 2





You must also use information of your own.




	
•  Sixteen-mark questions carry the most marks and therefore require a carefully planned and detailed answer.


	
•  You will be awarded marks for answers that are well organised, well structured and coherent.


	
•  The stimulus points are there to help get you started. You must also use your own knowledge and go beyond the points that you’ve been given.


	
•  Make sure you choose accurate and relevant information.


	
•  Remember the rules of essay writing: ensure your answer has an introduction that briefly outlines your view, at least three paragraphs of discussion and a reasoned conclusion which provides a judgement on the statement in the question.


	
•  Your conclusion is a crucial part of your answer. Make sure that you include clear criteria for your overall judgement, which you have backed up with convincing evidence and argument. This is not as simple as saying you totally agree or disagree with the statement. It also means avoiding sitting on the fence and not having an opinion! Instead, you must make a considered judgement as to how far you agree.
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Section 1 Depth Studies



1 Germany: development of dictatorship, 1918–45







1.1 The establishment of the Weimar Republic and its early problems
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What you need to know


In this section you will revise the massive political, social and economic consequences for Germany after its defeat in the First World War. This will include:




	
•  The abdication of the Kaiser and the German revolution.


	
•  The strengths and weaknesses of the new Republic and its Constitution.


	
•  The challenges facing the new Weimar Republic, including reactions to the Treaty of Versailles and political threats from the left and right.


	
•  The French invasion and occupation of the Ruhr, and the hyperinflation crisis of 1923.
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The abdication of the Kaiser and the German revolution of 1918–19




	
•  By November 1918, the First World War had lasted for four years; 1.8 million German soldiers had died and the army had been forced to retreat.


	
•  Low domestic production led to hunger. Moreover, a naval blockade imposed by the Allies prevented the import of food, fuel and medicines. Increasingly, Germans blamed Kaiser Wilhelm II.


	
•  In October 1919, German sailors at Kiel mutinied and refused an order to attack British naval forces. Strikes and protests spread across Germany and soldiers mutinied.


	
•  The Kaiser had lost control. In some cities, ordinary Germans set up workers’ councils as an alternative to the Kaiser’s authority.


	
•  It was clear Germany could not fight on, but the Allies refused to make peace unless the Kaiser abdicated.


	
•  On 9 November, the Kaiser was forced to abdicate and flee to Holland. The following day, a new republic was set up under President Ebert. On 11 November 1918, Germany signed an armistice with the Allies.
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Kaiser Wilhelm II (1859–1941)




	
•  Wilhelm was Kaiser from 1888 to 1918.


	
•  He was the grandson of Queen Victoria.


	
•  He was determined to increase German naval power and build an empire like Britain’s.


	
•  He supported Austria in 1914 and invaded France.


	
•  He died in exile in the Netherlands, in 1941.
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The strengths and weaknesses of the new Republic and its constitution



In January 1919, a new democratic constitution was drawn up for Germany. Democracy was new to Germany and therefore was not immediately welcomed. The unpopularity of the new government grew as it became closely linked to the numerous difficulties facing Germany following the First World War, therefore undermining the Republic from the start. Moreover, the Weimar constitution, despite its democratic credentials, included weaknesses that would also help create later instability.








	Strengths of the Weimar constitution

	Weaknesses of the Weimar constitution










	Men and women aged over 20 could vote. (In Britain the age was 21 for men and 30 for women.)

The President was elected every seven years and had the power to appoint the Chancellor (head of the government).


Proportional representation in elections meant the percentage of votes won by a party directly determined the percentage of seats they won in the Reichstag (parliament). This was fairer and more democratic than other electoral systems.


The Reichstag was elected every four years and served a fixed term. It passed or rejected changes in the law.


All Germans enjoyed freedom of speech and freedom of religious beliefs. Their civil rights were protected.



	Article 48 – in an emergency, the President could take action without consulting the Reichstag. This gave the President too much power, making it possible he might act undemocratically (see page 25).

Proportional representation made it difficult for any single party to get an overall majority. Therefore, there were coalition governments and these tended to be weak, unstable and short lived.


Proportional representation allowed small extremist parties to win seats in the Reichstag. These parties were often anti-democratic.
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Revision tasks




	
1  Here are some key terms, events and people. Imagine that these are answers and it is your job to come up with a suitable question for each one. Try to make each question as detailed as possible so that you are using specific knowledge to phrase it.



	
a)  Kaiser


	
b)  Kiel


	
c)  Proportional representation


	
d)  Article 48


	
e)  President


	
f)  Constitution


	
g)  Naval blockade


	
h)  Allies


	
i)  Reichstag


	
j)  Coalition governments







	
2  When was it clear that the Kaiser would have to abdicate?


	
3  How did the Weimar constitution make later instability more likely?
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Exam practice


Study Extract A.


What impression does the author give about the impact of proportional representation on Weimar Germany?


You must use Extract A to explain your answer.


(6 marks)
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Extract A


The Weimar constitution was based on proportional representation: any political party winning more than 60,000 votes was entitled to a member in the Reichstag. One result of this was the growth of several parties. All the governments of the Weimar period were coalitions of two or more parties. Coalitions meant that party politicians had to make compromises with each other in order to govern. Many Germans despised the frequent changes of government and the wheeling and dealing that was involved.


Adapted from Nazi Germany 1933–1945 by Christopher Culpin and Steve Mastin, 2013, Hodder.
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Exam tip


Remember that the examiner wants you to explain the impression the author gives. You can support your ideas using short quotations that focus on key phrases or even key words.
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German reactions to the Treaty of Versailles, June 1919


Following the armistice of November 1918, the Allies (Britain, France and the United States) began to draw up a peace treaty. The German people hoped for a fair treaty as the Kaiser had been replaced by a democratic republic. However, the Germans were not even invited to the Paris Peace Conference and had no say in the negotiations.




The key terms of the Treaty of Versailles and German reaction


The resulting Treaty of Versailles punished Germany harshly. However, President Ebert had no choice but to sign the Treaty in June 1919. Opponents angrily described it as a ‘diktat’ (dictated peace).








	Key terms of Treaty

	Reactions in Germany










	Germany was forced to accept full blame for starting the war (Article 231: the War Guilt clause).

	This was a national humiliation for Germany. The public resented it and felt responsibility was shared by all the nations involved.






	Because Germany had to accept full blame for the war, the Allies could make Germany pay reparations (compensation for war damages), mostly to France and Belgium. A total amount of £6.6 billion was set in 1921, to be paid in annual instalments.

	Many Germans felt reparations were too high. They felt that the payments would further weaken the economy which was already damaged by war.






	Germany was not allowed tanks, submarines or aircraft. The army was limited to 100,000 soldiers and the navy to six battleships and 15,000 men. The Rhineland was demilitarised. Conscription was banned.

	This made many Germans feel insecure. Germany had been a strong and proud nation. Now it seemed that the Allies were deliberately trying to weaken them.






	Germany lost 10 per cent of its land, including all of its overseas colonies. The land lost contained 13 per cent of the population, as well as important raw materials and industry.

	These terms robbed Germany of its key industrial areas including Alsace-Lorraine (iron) and the Saar (coal). Critics argued that this undermined the economy even further.















The ‘stab in the back’ myth and the ‘November Criminals’



Some returning soldiers and senior commanders believed, wrongly, that Germany could have fought on in the war and that the front-line troops had been ‘stabbed in the back’ by weak politicians, communists and Jews.




	
•  They regarded the government as traitors for agreeing the armistice and signing the Treaty of Versailles, labelling them the ‘November Criminals’.


	
•  This ‘stab in the back’ myth soon became popular with those who opposed the new democratic republic.













Challenges to the Weimar Republic from the left and right


Although most Germans supported the new constitution and Republic, there were still powerful opponents who rejected democratic ideals. This came from both the communist left-and nationalist right-wing of German politics.




Challenge from the left: the Spartacist Rising, January 1919




	
•  The Spartacist League (later the KPDD – the German Communist Party) was a communist group led by Rosa Luxemburg and Karl Liebknecht. They believed that President Ebert would not improve the lives of working people. They wanted a full-scale revolution like the one in Russia in 1917.


	
•  In January 1919, an uprising began in Berlin. Spartacists took over government telegraph and newspaper offices. They hoped protesters would seize other buildings, but this failed to happen.


	
•  The uprising was badly planned and did not attract support from other left-wing groups. The government ordered the army, helped by the Freikorps, to restore order. Liebknecht and Luxemburg were killed and the rising was crushed.










Challenge from the right: the Kapp Putsch, March 1920




	
•  The Freikorps were furious about the Treaty of Versailles and government plans to reduce the size of the army.


	
•  Freikorps units refused to disband or hand back their weapons after defeating the Spartacists and a similar communist rising in the Ruhr. In 1920, they attempted a takeover of Berlin. The plan was to form a new right-wing government, led by Wolfgang Kapp.


	
•  12,000 Freikorps marched on Berlin. The army refused to fire on former soldiers and so the government was forced to flee Berlin for the sleepy town of Weimar.


	
•  The government appealed for a general strike. Workers and civil servants stopped working and refused to cooperate with Kapp. The country was paralysed. Kapp was unable to govern and the putsch collapsed in just four days. Kapp fled the city and the government returned (now forever known as the ‘Weimar’ government).
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Revision tasks




	
1  Make your own copy and complete the concept map below.
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2  Use the look, cover, write and check method to help you learn the terms.


	
3  Write a simple definition of the ‘stab in the back’ myth.


	
4  Explain which was more of a threat to the Weimar government: the Spartacist Rising or the Kapp Putsch.
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The French occupation of the Ruhr, January 1923


The First World War had brought Germany close to bankruptcy and the Treaty of Versailles made things even worse. In 1922, the Weimar government announced it could not afford to pay reparations. France did not believe this and was determined to make Germany pay.




	
•  In January 1923, 60,000 French and Belgian troops marched into the Ruhr, an important industrial area of Germany. Troops occupied the area for ten months, taking industrial products and raw materials to meet the value of the reparations owed.


	
•  The Weimar government ordered workers to begin passive resistance. This meant going on strike and refusing to cooperate with the French. Some workers even flooded mines or set fire to factories.


	
•  French occupation of the Ruhr meant Germany lost income from one of its main industrial areas. Moreover, the striking workers still needed to be paid. This added to the Weimar government’s economic problems.










Causes and effects of hyperinflation, 1923




Causes




	
•  The German government had printed more banknotes to help pay for the cost of the war and the reparations payments. However, the more notes in circulation, the more their value dropped.


	
•  In 1923, the government was forced to print even more money to pay the striking workers in the Ruhr. This caused hyperinflation, when prices rose at an incredible rate as the value of the currency collapsed.










Effects








	Short-term effects of hyperinflation

	Long-term effects of hyperinflation










	Many workers’ wages did not keep up with rising prices as these were increasing so quickly. They could no longer afford daily necessities. In 1918, a loaf of bread in Berlin cost 0.63 marks. By July 1923, this had risen to 3,465 marks and by November it was 201,000,000,000 marks!

Those on fixed incomes, such as pensioners, were hit hardest. Soon their monthly incomes became worthless.


People with savings found that the value of their money was wiped out almost overnight. Millions of middle-class Germans were plunged into poverty.



	The Weimar Republic was severely weakened by hyperinflation. Millions of Germans had lost savings and there was widespread poverty.

Many Germans blamed the government for the crisis. Those who lost their savings were never compensated.


In future years, few people would forget the damage caused by hyperinflation. Their faith in democracy was never fully restored.











While the great majority of Germans suffered during the period of hyperinflation, some did benefit:




	
•  People with loans and mortgages could pay back the money owed more quickly. This especially helped some business owners.


	
•  People who owned possessions such as land or buildings were protected as these rose in value in line with inflation.


	
•  Some businesses benefited from high profits as prices tended to increase more than wages.
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Revision tasks




	
1  How did the occupation of the Ruhr further damage the German economy?


	
2  Explain why the following would have been winners or losers during the hyperinflation of 1923:



	•  a farmer


	•  a factory worker


	•  a business owner who took out a loan to buy a factory in 1914.
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Exam practice


Explain two effects of hyperinflation in 1923 on Germany.


(8 marks)
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Exam tip


Eight-mark questions on Paper 1 require you to explain two effects of something. This goes beyond simply describing an effect. To reach the highest level, you must explain the consequences of each effect on the situation at the time.


[image: ]



















1.2 The recovery of Germany, 1924–29
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What you need to know


In this section you will revise the period from 1924 to 1929. This is seen as a period of recovery for Germany, largely due to the efforts of Gustav Stresemann, but serious problems persisted. This section will include:




	
•  The strengths and weaknesses of Stresemann’s domestic policy.


	
•  The strengths and weaknesses of Stresemann’s foreign policy.
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Gustav Stresemann (1878–1929)




	
•  Stresemann was a hugely influential German politician who served as Chancellor in 1923 (for a brief period of 102 days) and Foreign Minister from 1923 to 1929.


	
•  He ended the hyperinflation crisis and the French occupation of the Ruhr.


	
•  He restored some of Germany’s reputation on the international stage.


	
•  In 1926, he won the Nobel Peace Prize for his efforts to improve German relations with France.
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The strengths and weaknesses of Stresemann’s domestic policy


Stresemann tried to find solutions to the difficult economic and political problems facing the Weimar Republic.




A new currency


Hyperinflation had made the German mark worthless. Stresemann introduced a temporary currency called the Rentenmark. One Rentenmark replaced 1,000 billion marks. The old notes were recalled and destroyed. In 1924, the temporary currency was replaced by the permanent Reichsmark.





Positives and negatives





	
[image: ]  The new currency was quickly accepted by Germans and other countries that traded with Germany. Inflation was brought under control.


	
[image: ]  Those who had lost their savings were never compensated by the government. They felt cheated and disillusioned with the Weimar Republic.













The Dawes Plan, 1924


Stresemann organised loans from the USA as part of the Dawes Plan. These loans gave a massive boost that helped kick-start the German economy.




Positives and negatives




	
[image: ]  US loans made to the Weimar Republic were invested in German industry. By 1928, German industrial production had reached pre-war levels. Wages and pensions rose. The cost of living went down and confidence in the economy was restored.


	
[image: ]  The German government also improved housing, hospitals, schools and roads.


	
[image: ]  Reparations were linked to Germany’s economic performance and Germany was given longer to pay.


	
[image: ]  Stresemann ended passive resistance and could now promise to keep up reparation payments to France. The French agreed to remove their troops from the Ruhr.


	
[image: ]  Food prices were low and so farmers remained poor. Many supported extremist groups such as the Nazis, who promised to help them.


	
[image: ]  Some Germans criticised the Dawes Plan and felt the government was accepting blame for the war by continuing reparations payments. Right-wing nationalists regarded this, and Stresemann’s decision to call off passive resistance, as a betrayal. This was one of the causes of the Munich Putsch (see pages 21–23).


	
[image: ]  The loans made the German economic recovery dependant on the USA. If there were economic problems in the USA, this would have severe knock-on effects for Germany (see page 23).













The Young Plan, 1929


The Young Plan reduced the amount of reparations Germany had to pay and supported further economic recovery.




Positives and negatives




	
[image: ]  The amount Germany had to pay in reparations was reduced from a total of £6.6 billion to under £2 billion.


	
[image: ]  The Young Plan led to the final removal of British, French and Belgian troops from the Ruhr.


	
[image: ]  Lower reparations payments saved the government money which it used to cut taxes and invest to create more jobs.


	
[image: ]  Nationalist groups were once again angry that the German government had agreed to continue paying reparations, even at a reduced rate. However, only 14 per cent of Germans voted against the Young Plan in a referendum.


	
[image: ]  Under the Young Plan, Germany would still be paying reparations in 1988. Some argued that this would endanger Germany’s progress as a nation.
















The strengths and weaknesses of Stresemann’s foreign policy


Stresemann realised that Germany was in no military position to challenge the Treaty of Versailles. Instead he relied on diplomacy to improve Germany’s position and relationships with other countries.








	Foreign policy

	Outcome










	Locarno Pact, 1925

	Britain, France, Italy and Belgium agreed to respect the existing borders between Germany, Belgium and France.



	
[image: ]  This began a period of improved relations and cooperation between Britain, France and Germany – the ‘Locarno honeymoon’.











	League of Nations, 1926

	The League of Nations was an international organisation set up in 1920 to ensure peace.



	
[image: ]  Initially, Germany was forbidden from joining, but this changed in 1926 when Germany was given a permanent seat on the Security Council. This marked Germany’s return to ‘great power’ status and the improved trust it had on the international scene.











	Kellogg–Briand Pact, 1928

	Germany signed the Pact with 64 other nations who all agreed to solve international disputes ‘by peaceful means’. Armies would be kept, but only for self-defence rather than for aggression.



	
[image: ]  The Pact further improved international trust in Germany, especially with the USA and the leading European nations, while confirming Germany’s status as a great power.














Many Germans felt let down by Stresemann’s foreign policies. They still regarded the Treaty of Versailles as a ‘diktat’ and felt that diplomacy only confirmed the worst aspects of the Treaty.
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Revision tasks




	
1  Fill in your own copy of the table below using the information on pages 18 to 20 to help you. Tick to show how successfully Stresemann dealt with the big problems facing Germany and then give reasons to support your judgement.
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2  Next, write a paragraph that makes an overall judgement on how far Stresemann solved Germany’s problems between 1924 and 1929. Support your judgement.
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1.3 The rise of Hitler and the Nazis to January 1933
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What you need to know


In this section you will revise how Hitler and the Nazi Party changed from operating at the fringes of German political life, as late as 1928, to Hitler becoming Chancellor in 1933. This will include:




	
•  Hitler’s involvement in the German Workers’ Party (later the Nazi Party).


	
•  The Munich Putsch of 1923, and subsequent reorganisation of the Nazi Party, 1924–29.


	
•  The impact of the Great Depression and other factors that helped the Nazis become popular after 1929.


	
•  The political deal that resulted in Hitler being offered the Chancellorship in 1933.
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Hitler and changes to the German Workers’ Party, 1920–22


Hitler joined the small German Worker’s Party in 1919. Its leader, Anton Drexler, recognised Hitler’s flair for communication and put him in charge of party propaganda. In 1920, a Twenty-Five Point Programme was launched, along with a new party name, the National Socialist German Workers’ Party – Nazis for short. The most important points of the Programme were:




	
•  a strong central government in Germany to replace the ‘weak’ democratic republic


	
•  the abolition of the Treaty of Versailles, with Germany rearming and recovering lost land


	
•  union between Germany and Austria


	
•  no Jew could be a citizen, only ‘true’ ethnic Germans


	
•  state ownership of large businesses and industries


	
•  generous payments for pensioners.





By 1921, Hitler had replaced Drexler as leader of the Party and was attracting attention with his fiery speeches. He controlled the Party like a military commander, demanding unswerving loyalty. The swastika became the Party emblem and the distinctive arm salute was introduced. The Nazis launched their own newspaper – The People’s Observer (Völkischer Beobachter) – to help promote their views.




The SA


In 1921, Hitler established the Sturmabteilung (SA) – stormtroopers. These men were the official ‘muscle’ of the Nazi Party and they wore brown uniforms, earning the nickname ‘Brownshirts’.


Many had previously belonged to the Freikorps (see page 16) and so were violently anti-communist and anti-democratic. The SA controlled crowds at Nazi events and frequently disrupted the meetings of their political opponents using threats and violence.










The causes, events and results of the Munich Putsch, 1923




Causes


The Weimar government was already unpopular due to the national humiliation caused by the occupation of the Ruhr and the economic chaos of hyperinflation. When Stresemann called off passive resistance (see page 19) to persuade the French to leave, this was seen as the ultimate betrayal by nationalists.







Events


On 8 November, Hitler hijacked a meeting of local nationalist politicians and announced he was taking over the government of Bavaria. He was joined by the well-known Erich Ludendorff who had been Germany’s second highest ranking general at the end of the war and who had strongly objected to the Armistice.




	
•  Nazi stormtroopers began taking over official buildings.


	
•  The next day, 2,000 Nazis marched on Munich but armed police blocked their path. In an exchange of fire, sixteen Nazis were killed.


	
•  The putsch collapsed into chaos. Hitler escaped in a car, while Ludendorff and others were arrested. Hitler was arrested two days later.










Results


The trial in 1924 was a media sensation which Hitler turned to his advantage. He glorified his attempt to overthrow the ‘November Criminals’ who, he argued, had betrayed Germany. His passionate speech impressed many nationalists who now saw him as a potential leader. A sympathetic judge found Hitler guilty of high treason, but sentenced him to just five years’ imprisonment – with the prospect of early release. He served only nine months.










Reorganisation of the Nazi Party, 1924–28


In the short term, the Munich Putsch was a disaster for the Nazis, but in the longer term it was much more positive. Its failure made Hitler realise that the Nazis could never win power through force alone. While in prison, Hitler wrote, ‘If out-voting them takes longer than outshooting them, then at least the results will be guaranteed by their own constitution’. Therefore, a radical change of approach was needed.






[image: ]


Hitler reorganised the structure of the Nazi Party:




	
•  Local branches were set up in every part of the country. The Nazis became a legally recognised and legitimate political party.


	
•  The SA deliberately appealed to young, unemployed men. After joining the Party, they were provided with a uniform, lodgings and food.


	
•  Nazi associations were set up to appeal to different groups in society. The NS-Frauenschaft (a women’s organisation) was established alongside the National Socialist German Students’ League. In 1926, the Nazis created the Hitler Youth in an attempt to win over future generations of supporters.


	
•  In 1926, Hitler established the cult of the Führer (leader). No loyal Party member questioned Hitler’s leadership and the ‘Heil Hitler’ greeting became compulsory.


	
•  The SS were set up as Hitler’s private protection squad. These men were his most fanatical supporters and swore an oath of loyalty to him personally.
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Hitler also adapted the tactics used by the Nazis to win support:




	
•  Joseph Goebbels was appointed to spread the Nazi message through greater use of propaganda. He organised rallies and coordinated the production of posters, leaflets and radio broadcasts.


	
•  The SA were instructed to tone down their violent tactics and encouraged to demonstrate order and strength. This attracted middle-class supporters who wanted a party strong enough to resist the communists.


	
•  The Nazis appealed to farmers who were suffering from falling agricultural prices by promising higher prices for their produce. The Nazis also contrasted the purity of rural life against supposed moral decadence in the cities.
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Hitler’s reorganisation of the Party and change in tactics may not have won the Nazis any more voters, but it certainly increased Party membership which rose from 27,000 in 1925 to over 100,000 by 1928.
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Revision tasks




	
1  Draw a timeline of the changes and events affecting the German Workers Party (later the Nazi Party), 1919–24.


	
2  Make a list of the positive and negative outcomes of the Munich Putsch for Hitler and the Nazi Party.
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Exam practice


Study Extract A.


What impression does the author give about Hitler’s role in the Munich Putsch?


You must use Extract A to explain your answer.


(6 marks)
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Extract A


Hitler proved singularly ineffective. Nothing had been properly planned. He remained shut up in the Beer Hall unable to make up his mind whether or not to risk a demonstration. It was Ludendorff who decided for him and at noon the next day, led Hitler and the other Nazi leaders at the head of a column of several thousand men, which marched into the centre of the city. While Ludendorff marched on and pushed through the [police] cordon, Hitler, after being pulled to the ground and dislocating his arm, scrambled to his feet and fled.


A historian describing the Munich Putsch. Adapted from Hitler and Stalin: Parallel lives, Alan Bullock, Knopf, 1992.
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Exam tip


You should not spend too much time on six-mark questions. The most you should spend on a question is one and a half minutes per mark, so that equates to a maximum of nine minutes.
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The impact of the Great Depression


In 1928, the Nazis were little more than an extreme party at the fringe of German political life. They polled just 2.6 per cent of the vote. However, by 1932, the Nazis were the largest party in the Reichstag, and by January 1933, Hitler was Chancellor. Hitler’s message had not changed, but an economic depression meant more people were willing to listen to him.




	
•  In October 1929, the US stock market collapsed, triggering a worldwide economic depression. US banks recalled their loans to Germany (see the Dawes Plan on page 17). German businesses closed and by 1932, unemployment reached 6 million.


	
•  Under Chancellor Brüning (1930–32), the government had cut spending on welfare payments in order to avoid hyperinflation. Traditional politicians seemed unable to tackle the Depression and there were deep divisions between the parties in the Reichstag.


	
•  Brüning was nicknamed the ‘hunger Chancellor’ as more and more people felt democracy had let them down. Increasing numbers of Germans started supporting anti-democratic parties (especially the KPD and the Nazis). Brüning resigned in May 1932, by which time the Nazis had enjoyed increased success in regional and general elections.











Nazi methods to win support



The Nazis were skilled at using propaganda. Posters, meetings and speeches repeated simple and deliberately vague promises that appealed to a wide audience. One of the most well-known slogans was ‘Arbeit und Brot’ – meaning ‘Work and Bread’.




	
•  Hitler was portrayed as a strong leader and the country’s ‘last hope’, while the democratic parties were accused of weakly allowing Germany to lurch from one crisis to another.


	
•  As support for the KPD grew, Nazi propaganda highlighted the ‘Bolshevik menace’ and threat of revolution. Business leaders, worried by the chances of a communist takeover, were quick to donate large sums to Nazi electoral campaigns. Middle-class voters flocked to the Nazis.


	
•  The Nazis took advantage of modern technology. In the 1932 presidential election, Hitler was able to speak at five cities on the same day, flying from one venue to the next as part of his ‘Hitler over Germany’ campaign. This made the leader look dynamic and different.


	
•  The Nazis set up homeless shelters and soup kitchens to feed the unemployed and vulnerable. This was effective propaganda, portraying the Nazis as able to get things done, in contrast with the divided parties in the Reichstag.










The role of the SA


The SA provided protection at Nazi meetings, but also disrupted the activities of their political opponents, especially the KPD. They were led by Ernst Röhm.




	
•  By 1931, the SA had around 3 million members, many of them drawn from the growing ranks of young, unemployed men.


	
•  The Red Front, the KPD’s own fighting unit, frequently fought with the police as well as the SA. Hitler knew disorder on the streets alarmed many middle-class Germans and exploited this by presenting the SA as the guardians of order.
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Ernst Röhm (1887–1934)




	
•  Röhm served as a Captain in the First World War.


	
•  He established the SA along with Hitler in 1921.


	
•  He was arrested and imprisoned following the Munich Putsch.


	
•  Röhm became Head of the SA in 1931.


	
•  He criticised Hitler for not being radical enough after 1933.


	
•  He was shot during the ‘Night of Long Knives’ in June 1934.
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The events of 1932–33 and the political deal


Despite the economic crisis and the calculated ways in which the Nazis exploited the unpopularity of the Weimar Republic, it was never inevitable that Hitler would become chancellor. In the November 1932 election, the Nazis lost 2 million votes and 38 seats in the Reichstag. The Party was almost bankrupt and unlikely to afford another expensive election campaign. At a time when support for the Nazis was actually falling, it was a back-room political deal that handed Hitler the chancellorship.


Since 1930, President Paul von Hindenburg had ruled by decree, using the emergency powers granted by the Weimar constitution (see page 14). He used this power to dismiss or appoint a chancellor as he saw fit:




	
•  Following the November 1932 elections, the Nazis remained the largest single party in the Reichstag. However, Hindenburg still refused to make Hitler chancellor and appointed Kurt von Schleicher in December 1932. Without sufficient support in the Reichstag, von Schleicher was forced to resign within a month.


	
•  Behind the scenes, conservative politician and former chancellor, Franz von Papen conspired with wealthy industrialists who feared communism more than they feared the Nazis.


	
•  In January 1933, von Papen convinced Hindenburg to appoint Hitler chancellor. Hindenburg was persuaded that, with von Papen as vice-chancellor and only two other Nazis in the cabinet, Hitler could be controlled. The SA would be used, much like the Freikorps in 1919, to crush the communists. Then Hitler would be quietly dropped. The plan backfired spectacularly (see page 26).
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Paul von Hindenburg (1847–1934)




	
•  Hindenburg was German Chief of Staff during the First World War.


	
•  He was elected president of Germany in 1925, largely due to his status as a war hero, and re-elected in 1932.


	
•  He was strongly anti-communist and authoritarian in outlook.
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Franz von Papen (1879–1969)




	
•  Von Papen was born in 1879 into a wealthy family.


	
•  He was a strongly nationalist and conservative politician.


	
•  He served as chancellor in 1932, before being replaced by von Schleicher.


	
•  Von Papen boasted to Hindenburg that as vice-chancellor, he would ‘push Hitler so far into a corner’ that he would ‘squeak’.
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Revision tasks




	
1  What were the main effects of the Depression on Germany?


	
2  How did the Nazis exploit these problems?


	
3  What role did the SA play in the growing popularity of the Nazis?


	
4  Why was the political deal so important to Hitler and the Nazis?
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Exam practice


‘The economic depression was the main reason Hitler became chancellor in January 1933.’


How far do you agree? Explain your answer.


You may use the following in your answer:




	
•  the economic depression


	
•  Nazi propaganda.





You must also use information of your own.


(16 marks)


[image: ]
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Exam tips


Sixteen-mark questions include two bullet points. These are intended to help get you started. One can be used to support the statement and the other one to challenge it. However, if you want to achieve the highest marks you must go beyond these points and include aspects of your own knowledge.
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1.4 Nazi Germany, 1933–39
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What you need to know


In this section you will revise how Hitler and the Nazis dominated politics and transformed life in Germany before the Second World War. This will include:




	
•  How Hitler transformed Germany from a democratic state to a dictatorship.


	
•  The methods used by the Nazis to control the lives of ordinary Germans.


	
•  Nazi policies towards women, education, young people and the Churches.


	
•  Nazi racial policies and treatment of the Jews.


	
•  Unemployment and the workers in the Nazi state.
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Setting up the Nazi dictatorship, 1933–34



Hitler had made no secret of his desire to sweep away democracy. However, when he became chancellor in January 1933, Hitler was in a weak position. Certain challenges had to be overcome if he was to establish a Nazi dictatorship:




	
•  The Nazis lacked an overall majority in the Reichstag, despite being the largest single party.


	
•  There were only two other Nazis in the Cabinet and they were outnumbered by conservative nationalists. As vice-chancellor, Franz von Papen planned to control Hitler.


	
•  President Hindenburg had appointed Hitler as chancellor, but could also remove him at any time.


	
•  The armed forces distrusted the Nazis. They resented the SA with its 4 million members, fearing it might take over the army. Despite being small, the army remained capable of removing Hitler by force.


	
•  Strong opposition from the KPD and the Social Democrats continued. They could rely on the support of Germany’s many highly organised trade unions.







How Hitler established a dictatorship








	Event

	How Hitler used this to strengthen his power










	
February 1933, Reichstag Fire: The Reichstag was set on fire by Marinus Van Der Lubbe, a Dutch communist who was arrested at the scene. Hitler declared that the fire marked the beginning of a communist uprising.

	Hitler was granted Emergency Powers by Hindenburg. This allowed him to:



	
•  Arrest 4,000 communists, including many Communist Party leaders. The KPD was effectively leaderless. Other political opponents were also locked up.


	
•  Ban political meetings and close newspapers and radio stations.


	
•  Search houses and lock up suspects without trial.











	
March 1933, Enabling Act: Despite not having a majority, Hitler persuaded the Nationalist Party and Centre Party to support a new Enabling Act to give his government special powers for the next four years.

	Hitler could make laws, treaties and even change the constitution without consulting the Reichstag. He could rule by decree and began to dismantle the democratic system.

By July, Hitler had made decrees banning trade unions and all other political parties. Germany was now a one-party state.








	
June 1934, ‘Night of the Long Knives’: Hitler used the SS to arrest 400 SA leaders, including Ernst Röhm, who Hitler accused of plotting to remove him.

Röhm and the other leaders were shot.



	Röhm had been a potential rival to Hitler within the Party. He had wanted Hitler to introduce more socialist policies. By removing him in such a ruthless way, Hitler deterred any further disagreement.

Hitler won the trust of the German army who were satisfied that the threat from the SA was ended.








	
August 1934, Hitler as Führer: Hindenburg died on 2 August 1934. Hitler wanted to change the constitution and combine the roles of President and Chancellor. He decided to seek the approval of the German people. In the referendum that followed, more than 90 per cent of voters (38 million) agreed with his action.

	Hitler was now officially Führer of Germany. The German army now swore a personal oath of loyalty to Adolf Hitler, making his position virtually unassailable.
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Revision tasks




	
1  Fill in your own copy of the table below using the information on pages 25 and 26 to help you. The first one has been started for you.











	Hitler’s weakness

	When this weakness was solved

	How this was solved










	Continued opposition to the Nazis from the KPD, Social Democrats and trade unions.

	By July 1934.

	Hitler had used his new powers under the Enabling Act to ban the trade unions and other political parties.






	The Nazis lacked an overall majority in the Reichstag.

	 

	 






	There were only two other Nazis in the Cabinet and von Papen was Vice-Chancellor. Hindenburg and von Papen planned to control Hitler.

	 

	 






	As President, Hindenburg had appointed Hitler but had the power to remove him as Chancellor at any time.

	 

	 






	The armed forces were distrustful of Hitler and the Nazis.

	 

	 











	
2  Looking back at your completed table, which event do you think was the most important in consolidating Hitler’s power and moving Germany away from democracy and towards dictatorship? Explain your answer.
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Nazi methods of control


The Nazis were determined to win over ordinary Germans using propaganda. However, historians have shown that only those willing to be persuaded and the undecided were strongly influenced in this way. Former political opponents and critics of the Nazis had to be controlled in other ways.




The police state


To establish a totalitarian Germany, Hitler relied mainly on Heinrich Himmler. His methods were to intimidate and discourage any form of opposition.






[image: ]


Heinrich Himmler (1900–45)




	
•  Himmler joined the Nazi Party in the early 1920s and took part in the Munich Putsch in 1923.


	
•  He was obsessed with racial purity in Germany and believed in the superiority of the Aryan race.


	
•  He was responsible for the SS, Gestapo and concentration camps and later oversaw the ‘Final Solution’.


	
•  Himmler committed suicide after being captured by the Allies in 1945.
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The SS


Formed in 1925, as Hitler’s personal bodyguard. Led by Heinrich Himmler after 1929. It had 50,000 members in 1934, 240,000 in 1939 and 1 million by 1944.


Wore distinctive black uniforms and showed total obedience to Hitler. Highly trained and expected to be pure Aryans (see page 32). Their primary responsibilities were to destroy opposition and carry out Nazi racial policies:




	
•  The Death’s Head units ran the concentration camps and later the extermination camps (see page 36).


	
•  The SD (security services) investigated disloyalty in the armed forces and Nazi Party.


	
•  The Waffen SS were special armoured regiments that fought alongside the regular army.
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The Gestapo and informers




	
•  Set up in 1933, the Gestapo (secret state police) was greatly feared. They arrested and sent people to concentration camps without trial, opened mail and tapped telephones.


	
•  However, the Gestapo was understaffed and not nearly as powerful as people thought. It relied on networks of informers – members of the public who alerted it to suspect activity. Some Germans used this as an opportunity to settle scores with their neighbours or get back at someone they disliked. The resultant climate of mistrust deterred open criticism of the Nazis.
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Concentration camps


These special prisons were used first to isolate social democrats, communists and anyone else brave enough to oppose the Nazis. Conditions were harsh, food limited and hard labour compulsory. Beatings were common and some inmates were killed.


Those not conforming to the ideal Nazi society were also imprisoned (see page 00). By 1939, an estimated 1.3 million Germans had spent at least some time in a concentration camp.
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Police and courts


High-ranking police officials reported directly to Himmler and were expected to be loyal Nazis. The Nazis also controlled the courts. Magistrates and judges swore an oath of loyalty to Hitler. Opponents of the regime rarely received a fair trial.


Punishments were very harsh. By 1943, the death penalty was used for 43 different crimes, including telling an anti-Nazi joke.
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Revision tasks




	
1  Make your own copy and complete the concept map below.
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2  Use the look, cover, write and check method to help you learn the terms.
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Censorship and propaganda



Hitler and the Nazis could not rule through fear alone, therefore the Nazis strictly controlled all aspects of German media and culture. Propaganda ensured the Nazi vision was widely shared while censorship prevented contrary ideas from emerging. The man charged with the task was Joseph Goebbels.
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Joseph Goebbels (1897–1945)




	
•  Goebbels joined the Nazi Party in 1924 and was appointed propaganda chief in 1930.


	
•  In 1933 he became Minister for Propaganda.


	
•  He used radio, films, posters and rallies to portray Hitler as the saviour of Germany.


	
•  He and his wife committed suicide in May 1945, one day after Hitler had taken his own life and a few hours after they had ended the lives of their six children.
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	Propaganda value

	Censorship measures










	Radio

	Broadcast Hitler’s speeches daily. Nazi ideas and propaganda were repeated constantly.

Cheap radios or ‘Peoples’ Receivers’ were made available. Loudspeakers were placed in public spaces and factories for those without radios.



	Foreign broadcasts were banned. Listening to an anti-Nazi station such as the BBC was punishable by death.

Peoples’ Receivers were designed so they did not pick up foreign stations.








	Books

	
Mein Kampf became a bestseller.

Nazi approved authors could have their books published more easily than ever before.



	All books were approved by Goebbels before publication.

Books by Jews or containing ideas or views disapproved of by the Nazis were banned and removed from libraries. Public book burnings were organised.








	Films

	Goebbels ordered that films were useful ways of conveying Nazi ideas. This was usually quite subtle as obvious propaganda was less entertaining for audiences.

Newsreels shown before each film were strictly pro-Nazi in their message. Audiences were required to arrive before these started.



	All foreign films were censored before being shown.

Actors and directors who had been critical of the Nazis were forced to work abroad.








	Newspapers

	The Nazis used their own papers such as the Völkischer Beobachter and the violently anti-Semitic Der Stürmer to communicate their ideas.

Later, the government bought up most other newspapers. By 1944, 82 per cent of the press was Nazi owned.



	Goebbels shut down all anti-Nazi newspapers. Jewish editors and journalists were sacked, as were any who opposed the Nazis politically.

Editors were told what they could and could not publish by the Nazi News Agency. Stories invariably had a pro-Nazi bias.








	Rallies

	Spectacular rallies were held, the most famous of which were at Nuremberg. Thousands of stormtroopers, the army and leading Nazis would gather for parades and speeches. Such events were intended to create the image of power, unity and order.

	Nazi rallies were carefully planned and stage managed. Even the lighting was strictly controlled to create a powerful and optimistic impression.
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Revision task




	
1  Describe the different roles of Goebbels and Himmler.


	
2  Why did Hitler have to rely on both these men to ensure Nazi control over ordinary Germans?
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Exam practice


‘The Nazis relied mainly on censorship to maintain control over ordinary Germans after 1933.’


How far do you agree? Explain your answer.


You may use the following in your answer:




	
•  censorship of the media


	
•  Nazi propaganda methods.





You must also use information of your own.


(16 marks)
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Exam tip


Remember the rule of one and a half minutes per mark means you should spend no more than 24 minutes answering each sixteen-mark question. This should give you time to make a quick plan before starting to write.
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Nazi policies towards women, education, the young and the Church, and their impact


The Nazis wanted to control the lives of women, young people and the workers. They also sought to reduce the influence of their main competitor, the Church, for the hearts and minds of Germans.




Nazi policies towards women


The Nazis had strong beliefs about men and women’s role in society. They emphasised the need to increase the birth rate, arguing that if Germany did not increase its population, it could never be a great power.
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Women were expected to fulfil their biological and domestic duties by:




	
•  Having as many children as possible and raising them as loyal Germans, eager to serve and sacrifice for the national community.


	
•  Looking after their husbands and running homes in an efficient and thrifty manner.


	
•  Prioritising raising a family over having a job and career.


	
•  Avoiding make-up and fashion by dressing more traditionally.


	
•  Staying fit, healthy and fertile.
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The Nazis encouraged this in various ways:




	
•  Propaganda emphasised the value of motherhood. Honour Crosses for German Motherhood were awarded: a bronze medal for four children, silver for six and gold for eight.


	
•  Contraception was harder to access and banned altogether in 1941. Dieting, smoking and drinking were discouraged as harmful to fertility.


	
•  Marriage loans encouraged women to stop work and start a family. Repayments were substantially reduced each time a child was born.


	
•  Divorces became easier to obtain so women could remarry and have more children.
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Despite these policies, the Nazis only partly achieved their aims for German women. See the table below.








	Evidence the Nazis achieved their aims for women

	Evidence the Nazis failed to achieve their aims for women










	In 1933, 970,000 babies were born. By 1939, this had risen to 1,413,000.

Women were restricted in certain careers. Married female doctors and civil servants were sacked in 1933. There was also a drop in the number of women teachers. By 1936, women lawyers could not argue cases or sit as judges.


The number of women at university was reduced from one in five in 1933 to one in ten by 1935.



	Despite the increase, birth rates remained stubbornly below those of the Weimar Republic.

Total numbers of women working increased between 1933 and 1939. When war broke out, this increased further as they filled the jobs vacated by men (see page 39).


Many women, especially in the cities, continued to be fashionable, wearing make-up, smoking and drinking.
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Revision tasks




	
1  Summarise the main aims the Nazis had for German women.


	
2  Choose the assertion you most agree with below and turn it into an argument, supporting it using the information on page 30.

The Nazis were totally successful / partially successful / quite unsuccessful / totally unsuccessful in achieving their aims for German women.
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Nazi policies on education


As a means of ensuring the loyalty of future generations, the Nazis strictly controlled the education system.




	
•  Teachers joined the National Socialist Teachers’ League and taught a Nazi-controlled curriculum. Those who refused were sacked.


	
•  Racial Science lessons deliberately emphasised that there was a hierarchy of races. Jews were inferior and a threat to the purity of the German race. In contrast, the Aryan race was superior to all others


	
•  History lessons emphasised how Germany had been ‘stabbed in the back’ during the First World War. Geography lessons focused on the land ‘unfairly’ taken from Germany after the Treaty of Versailles.


	
•  PE lessons were increased to create healthy Germans for the future. Boys would need to be fit for military service and girls for motherhood.


	
•  Girls were given lessons on how to do housework and run a home.










Nazi policies towards young people


The Nazis focused much of their propaganda on the young. Children would be the first generation to grow up in the Third Reich and so the Nazis wanted to ensure fanatical loyalty. Outside school, children were encouraged to join Nazi-run Hitler Youth groups:
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Boys




	
•  Young Folk (ages 10–14), Hitler Youth (ages 14–18).


	
•  Encouraged discipline, obedience, courage and physical fitness.


	
•  Military-style activities included hiking, camping, map reading, mock battles and target practice.


	
•  Competitive sports were encouraged, including swimming and boxing.


	
•  Regular propaganda talks were given and Hitler’s speeches carefully studied.
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Girls




	
•  Young Maidens (ages 10–14), League of German Maidens (ages 14–18).


	
•  Encouraged physical fitness for future motherhood.


	
•  Focus on domestic life including childcare, nutrition, crafts and housework.


	
•  Propaganda talks.
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Despite this emphasis on young people, the Nazis never totally achieved their aims. See the table below.








	Evidence the Nazis achieved their aims for young people

	Evidence the Nazis failed to achieve their aims for young people










	By 1936, the Hitler Youth had 5.4 million voluntary members. This increased when membership became compulsory.

82 per cent of German children and teens belonged to the Hitler Youth or its female equivalent, the League of German Girls.



	Even after joining a youth group was made compulsory, many boys and girls avoided it. The endless marching was dull for some boys, while many others were bored by the long propaganda talks.

Some young people joined unofficial groups like the Edelweiss Pirates. Others showed their defiance through their musical tastes and fashion choices (see page 40).
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Revision tasks




	
1  What similarities were there between Nazi approaches towards German girls and boys?


	
2  What differences were there?
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Nazi policies towards religion and the Churches


The majority of Germans were Christian, including some 40 million Protestants and 22 million Catholics. Therefore, the Church was the biggest non-Nazi organisation in Germany. Hitler wanted to remove Christianity’s influence, but could not afford to alienate public opinion by offending people’s religious beliefs.








	Religion

	What the Nazis did

	How effective was Nazi control?










	Protestants

	A ‘Reich Church’ was set up, with the slogan, ‘With a swastika on our chests and the cross in our hearts’. This combined Nazi symbols with Christian services.

Many Jewish elements of Christianity were removed.



	Some pastors, led by Martin Niemöller and Dietrich Bonhöffer, formed the Confessing Church in opposition to the Reich Church. They openly criticised some Nazi policies.

In 1937, the Nazis briefly arrested some 700 pastors for disobeying government guidance on their sermons.


Niemöller and Bonhöffer were both sent to concentration camps. Bonhöffer was executed in 1945, after being associated with the July Bomb Plot (see page 40).


However, the majority of Protestant pastors kept out of politics and never openly criticised the Nazis.








	Catholics

	In 1933, Hitler signed the Concordat – this allowed freedom of worship and meant Catholic youth groups and schools stayed open. In return, the Pope agreed Catholics would not interfere in politics.

Hitler soon broke the agreement. Crucifixes were removed from schools and Catholic newspapers were censored. In 1936, Catholic youth groups and schools were closed.



	A few Catholic priests made sermons criticising certain Nazi policies. In 1941, Cardinal Galen openly attacked the policy of killing mentally and physically disabled people.

Most Catholic priests and bishops kept quiet. The few Catholic priests who did speak out were sent to concentration camps. However, Galen was too popular and high profile for the Nazis to risk arresting him.
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Exam practice


Explain two effects of Nazi policies on young people, 1933–39.


(8 marks)
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Exam tip


Remember that even a very detailed answer will only get four marks if you look at just one effect. Two paragraphs, one for each effect, will work best.
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